
(4 points)
A random variable, X, has a Uniform distribution on the interval [104,185].1.
(a). Draw the distribution
      in this box.

(b). What is the probability that a random value of X will be between 161 and 174?

(5 points)
Given: X has a Normal distribution with µµ = 60 and σσ = 12.2.
(a). Draw the distribution
      in this box.

(b). What is the probability that a random value of X will be between 64 and 76?

(5 points)
Given: X ~ N( µµ = 70, σσ = 8).3.
What is the 17th percentile of this distribution?
(draw the picture for safety's sake)



(4 points)
A random variable, X, has a Uniform distribution on the interval [14,18].5.
What is the probability that a random value from this
distribution will be between 15.73 and 17.35?

Draw the picture for the problem and calculate the probability.

(3 points : 3 minutes)
A random variable, X, has a Chisquare distribution with 20 degrees of freedom.  What is the 90th6.
percentile of this distribution?

Draw the picture for the problem and determine the value
of the percentile.



(4 points: 3 minutes)
Given:  X~U[41,851].4.
(a). Draw the distribution of X in this box.

(b). What is the probability that a random value
      of X will be less than 100?

(5 points: 4 minutes)
Given: X has a Normal distribution with µµ = 67 and σσ = 12.5.
(a). Draw the distribution
      in this box.

(b). What is the probability that a random value of X 
      will be between 57 and 76?

(5 points: 4 minutes)
Given:  X~N(µµ = 170 and σσ = 8).6.
What is the 83rd percentile of this distribution?
(draw the picture for safety's sake)



Pumpkins have weights that are normally distributed with an average of
 5000 grams and a standard deviation of 1640 grams.

(a) If stores will only buy pumpkins that weigh more than 2400 grams, what proportion 
     (or percent) of pumpkins will the stores buy?

(b) If a store buys 20 pumpkins that are randomly selected, what is the probability that the
    average weight of the 20 pumpkins will be less than 4800 grams?











(6 points)
Give the appropriate "null hypothesis" and "alternative hypothesis" for the following cases:1.
Show each hypothesis symbolically (e.g., H0: σ < 200).

(a) A medical auditor for a major hospital in the eastern United States believes his company 
is undercharging the Medicare system.  The average of all Medicare charges is $1850 per patient. 
Set up the hypotheses to test.

H0:

H1:

(b) A medical investigator claims that a major drug producer in the central United 
States has poor quality control, causing the potency of one "generic" drug to have
excessive variability.  The maximum standard deviation allowed is 0.25 milligrams (mg).

H0:

H1:

(c) A medical regulator is responsible for certifying drugs as safe.  He or she must 
decide how the percentage of people who have serious side effects when using a new
drug compares with the percentage that has serious side effects when using the
current standard drug.  The percentage for the current standard drug is 1.8%.

H0:

H1:



(6 points)
For the following situations, draw the critical region and show the critical values:2.

H0: µ <= 1000(a)
H1: µ > 1000
α = 0.01
n = 28

H0: µ = 1.84(b)
H1: µ <> 1.84
α = 0.05
n = 12

H0: µ => 19.2(c)
H1: µ < 19.2
α = 0.10
n = 61














